Punnett Square Help.  The answers are at the end.
1.  Complete the Punnett square for the following cross.  Tall pea plants are dominant over short.
Trait:       tall (heterozygous)   x   short

Alleles:     _________               x    _________

	
	

	
	


a.  What is the phenotypic ratio of the F1 generation? __________________

b. What is the genotypic ratio of the F1 generation? _____________________

2.  Complete the dihybrid cross for the following.  Tall is dominant over short and round seeds are dominant over wrinkled. Each parent is heterozygous for both traits.

Trait:          tall round          x        tall round

Alleles:       ________        x           ___________

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	


a.  What is the resulting genotypic ratio?

b.  What is the resulting phenotypic ratio? 

c. What is the probability written as a % that a plant from the F1 generation will be short and wrinkled?

Answers:  

1. Complete the Punnett square for the following cross.  Tall pea plants are dominant over short.

Trait:       tall (heterozygous)   x   short

Alleles:     ___Tt______               x    ____tt_____






T

   t
	
	

	
	


a What is the phenotypic ratio of the F1 generation? _________1 tall : 1 short_________

b.  What is the genotypic ratio of the F1 generation? ______1 Tt  :  1  tt_______________

2.   Complete the dihybrid cross for the following.  Tall is dominant over short and round seeds are dominant over wrinkled. Each parent is heterozygous for both traits.

Trait:          tall round          x        tall round

Alleles:       __TtRr______        x           _____TtRr______


	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	


a.   What is the resulting genotypic ratio?   1 TTRR: 2 TTRr: 1 TTrr: 2 TtRR: 4 TtRr: 1 ttRR: 2 Ttrr: 2 ttRr :1 ttrr 
b.  What is the resulting phenotypic ratio?  9 tall round: 3 tall wrinkled: 3 short round : 1 short wrinkled
c. What is the probability written as a % that a plant from the F1 generation will be short and wrinkled? 1 out of 16 = 6.25%
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